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The only ones given on test and on exam:

Addition and Subtraction Formulas Half-Angle Formulas
i = §j i . 3 1-cos2x P 1+cos2x
sin (x + ) = sinxcosy + cosxsiny iy > cosix = =
sin(x —y) =sinxcosy — cosxsiny < e

COs (X + y) = COBXCOSY = sinxsiny
COs (¥ — y) = cosxcosy + sinxsiny

tanx + tany
BREIN = 1 - tanxtany

tanx — tany

tai - = —_—
=N 1 +tanxtany
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Double Angle Formulas

sin 2x = 2sin xcos x

o5 2x = €os? X = sin® x
=2cos?x—1
=1-2sin’x

2 tan x

N T nTx



@ Find the exact values of each ofthe following. Justifvwhat

Yvouusc for VOur answers.

) . S5
a) sin—
3
3

b} csc—
4

) T
c) sec—
2

S

d) cos—
12

Sx

e} tan—

@ Determine the solutions for each equation where

0=x=27.

17 14

a)l + —rtanx = ——

3

cscx 9 .
= — 4 sinx
10

)5+ 7+ 2cosx= 7 + 4
dV3i+dcotx—1=2V3—1+ cotx

b)sinx + 2 +

sinx + cosx

) ——— =10

© 15
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@Determine the solutions for each equation where

0 = x = 27 by using a double-angle formula to
transform the equation into a linear trigonometric
equation, if necessary.

1

a) 2sinxcosx + — =1

2 . 2 2 _ 2
b) cos“x — sin“x + tan"x — 3 = tan"x — 2

@Usa factoring to solve each of the following equations

where 0 = x = 21T,
a) tan"x — Vgtanx= 0
|
b) sin’x — — =0
sin“x y

Aensty + 2ense+ 1 =0
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@Usa factoring to solve each of the following equations
where 0 = x = 277
a) tan’x — \/Etanx =10
: 2 I —
b) sin“x i 0
c)cos’x + 2cosx+ 1 =10
d) sec’x — secx = 2
, 4

) CsCx = —
) 3

F}mtzx—hﬁ\f@mtx+3={}

@ Write each of the following expressions as a single
trigonometric function.
a) sin 16° cos 99° — cos 16° sin 99°

T 2a
tan— + tan——
18

9
b)
ar 2w
]l — tan—tan—
18 9
L 13w T 137 . @
c) sin cos— + cos sin—
5 20 5

d) cos 88” cos 9° — sin 88" sin 9°

@ Yeove

@ sin’ x + cos® x = (1-sin xcosx)(sin x+cos x)

@ cos2x (Jr \
—————=tan ——xl
4 )

14+sin2x

Trigld Page 3



@ sin8x=8sinxcosxcos 2xcosdx

sinx=1-2sin?| Z-=
) 1 2

@sin(x+ y)+sin(x—y)=2sinxcos y

(.rr ] T . (;r \ 7z .
(_{jcos —=x |sec—=—sin| — —x |csc—=4sinx
12 ) 12 12 J 12

@The angle ¢ liesin quadrant I, and angle §# lies in

-2 -1
quadrant lll, if tanar = ? and cos § = ? , find

a) sine, sin Sand cosa
b) sin{a—f)

c) tanlo

d) cos—
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